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PHILOSOPHY
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Course Code : PHIL-P-CC-T-III

Full Marks : 60 Time : 2 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in their
own words as far as practicable.
1. Answer any ten questions: | 2x10=20
@it weift e Teg wie ¢
a) What are the marks of knowledge proper,
according to Plato? :
(2O T -2F© QIR o759 I 12
~b)  What is the meaning of Descartes ‘Cogito ergo
sum’? : ‘ :
(SIS .‘Cogito ergo sum’ ?FQn_ﬁﬁ ue Fre
c) What is the sole equation of pantheism in
Spinoza’s Philosophy?
PTG i FERFRITE 6 SR e
d) What is an innate idea? Give two examples.
AZETS LIl FIE 012 730 TRz WS |
e) What does Leibnitz mean by ‘Pre-established
harmony’?
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Name the complex ideas admitted by Locke.
T A wba aremefm am @9 |

What are the features of apriori judgement
according to Kant?

P WS i @ e & 50
How does Spinoza define substance?

Foreet Mer e sicet i »

What is the meaning of the expression ‘Tabula
Rasa’?

‘Tabula Rasa’ 39if5g @ef §t»

What are the two sources of receiving ideas
according to Locke?

mwwmm%aw%r%?

Give example of an analytic and a synthetic
judgement.

ﬁﬁmeawwwwqmn

What are the different types of monads
recognised by Leibnitz?

ﬁﬁaﬁ@%@ﬁf‘wmmﬁaﬂ?

How does Locke describe material substance?

TP T [Feng a9 e

What is the meaning of the expression ‘monads
are windowless’?
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0) What are the attributes of body and mind,
according to Descartes?

(CPIES W, (12 @ T wae F e
2. Answer any four questions: 5x4=20
-l 5Afb 2eaa Ted me

a) Whatare the'-arguments given by Locke against
the theory of innate ideas?
EETe gReered Reera aiea Jfeal F He
b) Distinguish, after Kant, between analytic and
synthetic judgement.

IO PR I RS ¢ AHIT SYIAE
T A1 T 391

c) What are the important characteristics of
‘monads, according to Leibnitz?

aigafe e, W ey aRErelE F e

d) Explain, after Descartes, the ‘theory of
interaction’ about the relation of mind and body.

(CHCT TP (72 8 WHd 79T /IS
TEmefefamrm = 41

e) Explain the concept of substance after
Spinoza’s Philosophy.
PTG Wi SRR §eg I 9 |

f) How does Berkeley criticize Locke’s theory
of material substance?
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3.  Answer any two questions: 10x2=20-
@G v eraa Teq wie ¢ '

a)

b)

d)
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How does Plato establish the theory that
knowledge is not perception? What is the other
theory of knowledge that Plato rejects? -

‘ 8+2=10
@A EorT T — Gl (2fh! i efedt wrae
TS AT (I ©F (2] TG T 2
How does Descartes arrive at his principle ‘I
think therefore I am’(Cogito Ergo Sum)? What
is the importance of this principle in Descartes’
Philosophy? : 8+2=10
(@5 Rrera wfit Bet 32 wrega wifyy @i’ @3

) TS T (BRI W R Al vy

Jle 7
Explain Hume’s theory of Causality. How far
is this theory acceptable? F£3=10

R wrfeae ©g 11 9 | ST B 11 o
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‘Give two examples of synthetic a priori

judgement. How, according to Kant, are
synthetic a priori judgements possible?

' : , 2+8=10
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